| Total number,of pﬂntéd pages-8 .
1(Sem-2) ECO
2025
ECONOMICS
Paper : ECOOZOOIQ4 '

( Basic Elements of Economics)
Full Marks : 60 _

Time : 2% hours

| The figures:in the margin mdicate
Jull marks for the questions.

Answer either in English or in Assamese.

1.  Answer the .foHoWing : T 1x8'=8t'
CERERIA Geq ol ¢ |

(a) State the main difference between a
parameter and a statistic.

2AI5eT SIF SN A4 ALFH! =y

(b) For the following data, obtain the value
of the mode :

@aﬁ<5ﬂmaﬁﬁ*mxﬁssmiﬁvﬁraﬁna
54 65 55 65 53 54 51 57 65 53
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'Total number of printéd pages-8 .
lv(S'em-‘Z)' ECO
2025
~ ECONOMICS
Paper : EC00200104
(Basic:Elements of Ecbﬁomics ).
| “Full Marks : 60

Time : 2% hours

| The figures in the margin mdicate
full marks for the questions.

Answer either in English or in Assamese.

1.  Answer the _folloWing : T ]_x8'=8j'
CRRIE TeT ot ¢ |

(a) State the main difference between a
parameter and a statistic.

AI5eT SF P 2 AL/ B~

(b) For the following data, obtain the value
- of the mode :

Wﬁwwmﬁ‘fﬂwg
54 65 55 65 53 54 51 57 65 53
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: (c)_

Distinguish Between Simple Arithmetic
Mean (SAM) and Welghted Anthmetlc
Mean (WAM).

7 mmﬂwmmwwwwm e

. fran

(@)

(e)

“Index numbers reﬂect weights of
. different commodltles » _
(Write True or False) -

‘qwmwﬁﬁ%a W@?WWW!”

(Wmﬁzrﬁvr)'

Financial Dualism implies the
coexistence of _ - —and ___

M

- concept than economic development. -

Economic growth is a broader/narrower

(Choose the correct option)

et s T AR Rl /5

gsﬁ'wmn.' | ](GW?@@%\%I)'

Answer any six. from the followmg
questions : ' : §2%6=12 -

' WWWWWW
(@

Point out two main dlfferences between
primary and secondary data

mﬁasw c‘mwa wr 2 m@ﬁml

. (lel in the blanks) (b) - Explain briefly the method of stratified
RS TSI e S LCEED] - random sampling. -
w4 I 2 ) WWWWWWWI
() Define disguised unemployment, (c)  Mention two uses of the cost of living
| R RRRIR SRRt o | index number.
| Wm«mm«@wﬁwwr
(g) - The HDI 2010 is the GM/AM of '
normalised indices. | (d) Mention the significance of purchasmg
(Choose the correct option) power parity.
HDI 2010 T ANNFS 537 GM/AM | i e e
(9% Cech R Glayean) | : A
| : , BO2FN 0017 3 Contd.
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(e) Define ‘Sustajnable Development’. : : S T @%W "HT EE? e Rall WNT EES

T S vice vl - | ekl
® What is.demographic dividend ? - | Marks 3040 [ 4050 | 5060 ] 6070 7080 | 80-90 9«}1007 '
- R AR Ry MoofStdents | -2 | 3 | 11 [0 [ 3 | 5] 7
(g) Write any two demographlc features of ’ KA | '
. India. |
: : : (b). What is an index number ? What are
SIS ResPIer 7ot Wf%as ¥Ry v | - its main features ? 2+3=5
(h) What is meant by a Financial System ? ‘ . P WY 2 N Al Eﬁﬁ@]@ﬁ 5 ﬁs?
IS EASISE| {%’Cﬁ% e . _ S (¢) Calculate cost of living index number

from the foll d
(i) . Distinguish between money market and , owing data :

‘capital market. - . b ' s SARIT 790 ‘éﬂa:{ 999 I EW ‘)T‘Fﬂ
Y IR N A T A B e |
() Define agricultural labour households. Article (1) P";;u()w | R;Of:l) Weights (919)
Pl .‘ i ~ffRar e B Food (per kg) 2000 | 2400 4 |
' from the following : (1% &) -
3. | Answer any four from the fo 0W1n§x.4'_20 [ Cloth er metr — TR
‘ B - | R (oo FbR) ' .
©or #fRl R bie19 @@ frars | Rent (per room) 5.00 8.00 9
(a) Frem the following table, calculate the W (e ) —— ]
median marks obtained by the Miscelancous (per unif |~ 2.00 200 1
, R (ofs ¢w)
~ students.
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(@)

Why .is PCI not a good index of

- economic development ? Discuss.

'PCI w@%ﬁ@ﬁ@wmﬁam?

ST

(9

M

- Differentiate between economic growth

and economic development

'wmﬁwwﬁmﬁww@MI .

H1ghhght the components ofa ﬁnanc1al |

system.

ﬁ@ﬂwwm«wﬁwﬁm

[llustrate the key elements of a well-
functioning financial system. -

ﬁ@ﬁﬁ%%ﬁ@ﬂﬁﬁ@ﬁﬁﬁ@l

Explaln the sector-wise composition of
India’s GDP. How does this sectoral
composition affect overall economic

'growth ? , 3+2=5
SlReq’ GDP-1 389TS Ao I aan Qu9©

SR R RS SdAfes e 4o
(oAt 2 |

BO2FN 0017 6

4. Answer any two from the follow1ng

questions: B 10><2—20

WWWWWWW

‘ (a) What does a measure of dlspersmn
, md1cate ? Name the different measures
of d1sper31on For the followlng data,

E obtam the value of the variance.
1+2+7=10

-ﬁmmﬁsw?mm@mmm|
wwmmzm ﬁvg«mﬁcﬁ |

Age Group 5-7 | 8-10 | 11-13 [14-16|17-19
i ,

No. of Stadents| 10 | 8 | 7 | 3 |2
RS |

(b) Examine the relative merits and
demerits of complete enumeration and
'sample survey. Explain briefly the
principal steps taken in a sample
survey. - 5+5=10

mﬁﬁwwmﬂﬁwwaﬁm
WWWWW|WWW '
amwsww\
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(c) What are ‘the essential components of
~ HDI ? Explain the method of calculating

HDI. - 4+6=10
HDIF m@ﬁa TR ﬁsv HDI 51919
AR I 1 | ‘

(d) - Discuss’ the trend of national income
a and per capita income of India. Analyse
. the factors influencing the growth rate

of national income and its implications

for economic development. 4+6=10

9 | TSI SRS 2SI (AT PRSI [ewget
< O ST Rore EREe wdet
il 4|

(e) Discuss the role played by ‘ﬁnéncial-
' system in the  functioning of an
economy.

a9 A riers A W g
IR 34 :
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